Bcepoccuiickas onmmnuaga LWKONbHNUKOB
Il (MyHMUMNanbHbIA) aTan
AHINIACKNIA A3bIK
9-11 knacchl
KomnnekT ana npenogasaTens
O6bLee BpeMs BbINOSHEHNA paboThbl — 2 Yaca 25 MUHYT
MakcrMasibHOe KonmyecTBo 6annos — 86.

MeToauueckme peKoMeHaaLunm
B KOMMMEKT MaTepunasioB, HEOBXOANMbIX /151 TPOBEAEHUS] KOHKYpPCa BXOAST:

1. MeTogn4eckme peKoMeHzaLnu
2. OnucaHne npoueaypbl NPoBefeHNA KOHKYypca
3. TekcT 3agaHuA
4. Kno4um n TpaHCcKpuUnuus (418 Y1eHOB XIopK)
5. Jluct oTBeTa (419 KaX40ro y4aCcTHNKA)
BCE 3AAAHUNA OJTMMITNALBbI TBOPYHECKW OPMEHTUPOBAHbLI 1 HE
ABNAOTCA NMOBTOPEHNEM ®OPMATA EI3
NoHnMaHWe yCcTHOro TekcTta (L istening)
Ha BbINno/HeHWe 3ajaHnA 0TBOAUTCA 25 MUHYT, B KOTOPbIE BXOAUT BHECEHWE OTBETOB B OTBETHbIE
NINCTBI.
[MoHMMaHWe YCTHOrO TeKCTa MpoBepseTcs BbIGOPOM OLHOMO U3 MPeL/IoKEHHbIX YETbIPEX BapUaHTOB
0TBETa, a TaKXXe onpesesieHns COOTBETCTBUS NPUBEAEHHbIX YTBEPXKAEHWI COAEPXKaHMIO TEKCTA.
Kaxgoe n3 AByx[3ajaHuii 3anncaHO Ha [AMCK OAHOKPATHO W MpeAbsBnseTca ABaxAbl (4BOMHOe
NpocnyLUBaHMe).
CNOXXHOCTb TEKCTOB COOTBETCTBYET YpoBHIO B1 no wkane CoseTa EBponbI.
MpaBWIbHOCTbL BbINOHEHWS 3aaHnii NpoBepseTcs no Koyam (cM. MPUNOXXEHUE 2).
KpuTepun ouegHMBaHUA: 3a Kaxiblii NpaBuibHbIA OTBET faetca 1 6Gann. MakcumasibHoe
KonnyecTBo 6as1108 — 18.

[NoHnmaHWe nNucbMeHHoro Tekcta (Reading)
3afiaHne No YTEHWO COCTOUT M3 26 BONPOCOB. Ha BbIMO/IHEHNE BCEX 3aAaHun 0TBOAUTCA 50 MUHYT,
B KOTOpPbIE BXOAUT N BHECEHWE OTBETOB B OTBETHbIE /IUCTHI.
3agaHue npeacTasnseT cobor YTeHWe ABYX[TEKCTOB NO3HABATE/IbHOro XapakTrepa. MoHMMaHne TeKCTOB
MpPoBepSeTCA BbIGOPOM OLHOMO U3 MPEL/IOKEHHBIX YETbIPEX BAPMAHTOB OTBETA, & TakXXe OnpefesieHuns
COOTBETCTBMSA MPUBEAEHHbIX YTBEPXAEHWI COLEPXKaHMIO TEKCTOB.
CNOXXHOCTb TEKCTOB COOTBETCTBYET YpoBHIO B1 no wkane CoseTa EBponsI.
MpaBWIbHOCTbL BbINOIHEHWS 3afaHuii NpoBepseTcs no Koyam (cM. MPUNOXXEHUE 2).
KpuTepun ouegHMBaHUA: 3a KaxAblii NpaBuibHbIi OTBeT pfgaetca 1 6Gann. MakcumasibHoe
KONnyecTBo 6annos — 26.

Nekcuko-rpammatumyecknin Tect (Use of English)

CoctouT 13 AByX 3afaHnii. Bcero B gaHHOM 6/10Ke 20 BONPOCOB.

3aflaH1sa COOTBETCTBYHOT MOPOroBOMY YPOBHIO C/I0XKHOCTU Bl no wkane CoBeTa EBponbl.
Yyvawpecs  [OMKHbI  MPOAEMOHCTPUPOBATL  COOTBETCTBYIOLLMIA  YPOBEHb  BafeHust  IEKCUKO-
rpaMMaTUYecKUM MaTepraioM U YMeHMe NpakTUYeCcKn UCnonb30BaTh ero Ha ypoBHe OTAebHOro C/10Ba
N NPeSsIoKEHUS.

PekomeHyeMoe BpeMsi A/151 BbINO/IHEHUSA BCeX 3afaHunii IeKCUKO-rpaMMaTMyeckoro Tecta
— 40 MUHYT.

MepBoe 3afaHWe - 3TO TECT C OMOPOI Ha HarfsLHOCTb, MPeACTaBAANOLWMIA COO0M OTKPbITHIA
K/M0Yy3-TECT C HayanbHOM OYKBOW HEO6X0AMMOrO ANs 3anofHEHUs cnosa. Llenbio 3agaHus saBnseTcs
onpeseneHne YpoBHS MHTErPUPOBAHHONO BfAfLeHWS IEKCUKOW, BK/KOYas 3HaHMe CI0BOOGPa30BaHus.
Opdhorpadmyeckre OWMOKM YUMTbIBAKOTCA. 3a KaX[blil MNpaBW/bHbIA OTBET (He COAepXKalymil
opgorpatmyeckmnx owmnobok) aaetca 1 6ann. MakcMmasnibHOe KonmyecTso 6as11oB - 10.




BTopoe 3agaHune npeactaBnseT COO60M TECT Ha HaxXOXXAEHME NPUUYUHHO-CNEACTBEHHbIX CBA3EW
Ha YpPOBHE OTAeNbHO B3ATOr0 MpefnoxeHuda. [1poBepseTcAd Kak MOHVMaHWe MpeacTaB/eHHOro
NEKCMYECKOro marepuana, Tak W MOHMMaHWEe CTPYKTYPbl C/OXHOIO MNPeanoXeHus. 3a Kaxablii
npaBWbHbIN OTBET AaeTcsa 1 6ann. MakcumanbHoe Konnyectso 6annos — 10.

MpaBWIbHOCTL BbINOSHEHWSA 3aaHnIA NpoBepseTcsa no kntovam (cMm. NMPUTOXXEHNE 2).
MakcrManbHOe KO/IMYecTBO 6asifioB, KOTOPOe MOXHO MOMYUYUTb 3a JIEKCUKO-TpaMMaTUyecKuii
TecT — 20.

Coumno-KynbTypHaa KOMNETEHLUNA

[aHHbIn  pa3fgen npeactaBnseTr Cco60M  3afjaHMe Ha  COMOCTaB/IeHUe  COLMOKY/bTYPHOWA
MH(opMaumn. 3a KaxXablii NpaBubHbIA 0TBET gaetcs 1 6ann. MakcumanibHOe KOom4ecTBo 6a1s1oB -
10. PekomeHayeMoe BpeMA A/14 BbINONHEHNA 3a4aHUA — 10 MUHYT.
MpaBWbHOCTL BbIMOMHEHWS 3a4aHnii NpoBepseTcs no Kntoyam (cm. MPUNOXEHUE 2).

[ncbmo

Yyawmmes npegnaraetcs Hanucatb AMYHOE nucbMo o6bemom 100-140 cnoB. Mpegnaraembiil >xaHp
MACbMEHHON  paboTbl MPOBEPSET HaBblKM  MPOAYKTMBHOIO MWUCbMAa, YMEHWE T[pPaMOTHO W
nocnefosaTtenbHO (hOPMYyNMPOBaTL TBOPYECKME UAEW HA OMpefesieHHYI0 TeMy, a Takxke npeanosnaraet
YMEHWE UCMO/b30BaTb 3HAHNA OCHOBHbIX MPUHLMMOB HaNMcaHNs COYNHEHWIA NOLOBHOr0 poja.
[na HanucaHus NUCbMa y4yalmmcs NpegaraeTtcs crneuuanbHO pasiMHOBAHHbIA NnCT. Tpu oueHKe
MACbMEHHON PaboTbl YUUTLIBAKOTCA ChefytoliMe KpUTepun: pelleHne KOMMYHUKaTUBHOW 3afjayvn
(Makcumym 3 6anna) U opraHusaumsa Tekcta (Makcumym 3 6anna). NMOJIYHEHHDBIE BAJ1/1bI
YOBAMBAKOTCHA (Makcumym 6 6a/1/10B Mo LLKase X 2).

OCOBOE BHVMAHWVE CNEAYET OBPATUTDL Ha TO, YTO B COOTBETCTBUM C MOJSIOXKEHMEM 06
aHOHWUMHOCTM pPaboT MNpu KX NPOBepKe, SABJIAETCA HEAOMYCTMMbIM YKasaHue Yy4dallMMmcs
COO6CTBEHHOI0 MMEHM B KauyecTBe MOAMWCUA B KOHLIe NMUCbMa. PeKoMeHAyeTcsa BMECTO MOAnucu
cTaBuTb N... B KOHLE nucbma. PaboTbl, NognuncaHHbIe yqawmmmcs, 6yayT ANCKBanLnMpoBaHbl
N He oueHMBaKTCA. KpUTEPUN OUEHKM BbINONHEHUA TMUCbMEHHOIO 3aJaHWsa NpPeACcTaBleHbl B
MpunoxeHun (MpunoxxeHne 3 — MNMpPOTOKON OUeHKN pasgena «IMncbmo» u MNpunoxeHne 4 — Cxema
OLIEHMBAHWNA BbIMOMHEHNA 3afaHuA pasgena «lucbmo»). 3agaHue COOTBETCTBYHOT MOPOroBOMy
YPOBHIO croXkHocTn B1 no wkane Coseta EBponbl.

B xopolwem nucbMe A0MyckaeTcs HebosbLIOe KOMYECTBO Opdorpauyeckux, rpammarmyeckmx u
NEKCUYECKMX OLINMGOK. Ha ypoBHE B1 CTUAMCTUYECKME OLLUMOKIN HE YUNTBIBAKOTCS.

Ha BbInosiHeHue 3agaHus otBoguTca 20 MUHYT. MakcuMasibHOoe KOsiM4vecTBo 6annos — 12.
PekomeHayemoe BpeMsA A4 BbINO/IHeHUA 3a4aHnsa — 20 MUHYT.
Mpouenypa NpoBefeHNA KOHKYpca
O6wyme npasuna

[Mepen BXOLOM B ayAuMTOPUIO YYacCTHWK  [LO/MDKEH MpefbsBUTb NAcrnopT WAW Apyroe
YL, 0CTOBEPEHNE IMYHOCTH.

YUaCTHUKN JOMKHbI CUAETH B ayAUTOPUKN HA TakOM PacCTOsHUM Apyr OT Apyra, 4Ytobbl He
BUAETH paboTy cocefa.

YYaCTHUK MOXET B35Tb C COO0M B ayAUTOPUIO PYUKY, OUKU, LLIOKOMaA, BOAY.

B aygutopuio He paspellaeTcs 6patb Gymary, crnpaBoYHble MaTepuasbl (CnoBapu, CripaBOYHUKW,
YYEOHUKN W1 T.4.), MenmKepbl U MOOW/bHbIE TeneoHbl, AMKTO(OHbLI, NJeiepsl U Nobble Apyrue
TEXHUYECKMe CpeaCcTBa.

Bo Bpems  BbINOMHEHUS  3aflaHMA  YYaCTHUK MOXET BbIXOAWUTb W3 ayauTOpUn TOMLKO B
COMPOBOXKAEHWNN IEXYPHOTO.

YYaCTHUK He MOXET BbIATU U3 ayauTOpUM C 3afaHuUeM WUn IMCTOM OTBETOB.

Mpouenypa nposefeHns

KaXXoMy y4aCTHWKY nepef HaydaioM BbINOMHEHUA 33faHWNiA BblgaeTca NUCT OTBETOB (Answer
Sheet) 1 NpoBOAMTCA MHCTPYKTAX Ha PYCCKOM A3blKe MO npoueaype nposefeHns OnvMmnuagsl,
3ano/IHEHMIO INCTOB OTBETOB U M0 NOPSALKY X CAaYM NOCc/ie OKOHYaHUs paboThbl:




Y4acTHUKM 3anonHaT rpady Participant’s ID number Ha McTax OTBETOB.

Bce 3afaHusi Mo NUCbMY HEOOXOAMMO BbIMO/HATL HA IMCTaX OTBETOB.

HA JIMCTAX OTBETOB KATEIOPUYECKW SAIMNPEWAETCA YKAS3SbLIBATb
PAMUNTININ,  OENATb PUCYHKWN WIN  KAKUE-JIMBO OTMETKW, B MNMPOTMBHOM
CNYYAE PABOTA CUNTAETCA AELLNPPOBAHHOW 1 HE OLIEHVBAETCS.

VcnpaBneHns Ha fiMctax OTBETOB OLIMOGKAMM He CUMTAKOTCH; Of4HAKO MOYepK [O/MKeH ObITb
MOHATHBIM; CMOPHBIE Clyvam (0 UK @) TPAKTYHOTCA He B NOJb3Y YHaCTHUKA.

3aiaHns BbINOMHAKTCA TOMbKO YEPHbIMW WA CUHUMK YepHUNamu/ nactoii (3anpeLLeHbl KpacHble,
3e/eHble YepHuna, KapaHaatl)

Mepes npocnylwvBaHMEM MepPBOr0 OTPbIBKA UY/IEH XXIOPW BK/IHOYAET 3anucb M [aeT BO3MOXKHOCTb
y4yacTHMKaM Npoc/yLlaTh caMoe Hayao 3anmcKu. 3aTeM 3anmch BbIK/TOUAETCS, W U/EH XKIOpK obpallaeTcs K
ayauTopumn C BOMPOCOM, XOPOLLO /I BCEM C/bILWHO. ECnv B ayguTopumn KTO-TO M3 YYaCTHWKOB MJI0XO
C/bILWNT 3aNUCb, PErynnupyeTcs TPOMKOCTb 3BYyYaHUS M YCTPAHAKOTCA BCE TEXHWYECKUe Herosagku,
B/MAIOLME Ha KayeCcTBO 3ByYaHMsi. 3aTem 3anucb BK/IKOYAeTCA C CaMOro Havasna He OCTaHaB/NMBaeTCs U
MPOCNYLLMBAETCA A0 CaMOro KoHLa.

YYacTHVUKM MOTYT 03HAKOMUTLCS C BOMPOCaMK 40 NMPOCNYLLMBAHUSA.

Mpouenypa ayauMpoBaHuWsA  3anmcaHa Ha AUCK  ogHokpatHo. [OCJ/IE  O4HOKPATHOIO
MPOCNYLWVBAHUSA KAXAOMO 13 3AAAHUIN Ne 1 U Ne 2 UNEH XXIOPU BKIKOYAET 3AMKCH
MOBTOPHO (monyckaeTtca TexHu4eckasa naysa B 10-15 cekyHp). Maysa mexay 3agaHusMn Jo/mkHa
coctaBuUTb 30 CeKyHA, Heob6XoAUMbIX /11 03HAKOMJIEHUS y4yallmMxcsi ¢ (DOpMYy/IMPOBKOA BTOPOro
3alaHuA.

TpaHCcKpuNuua 3ByYalMX OTPbLIBKOB MPWUIaraeTcd M HaxOAWUTCHA Y Y/ieHa XXIOpW, BKIHOYAOLWEro wu
BbIK/IOYAIOLLEro 3anucb, B ayauTopuu, rAe MPOBOAMTCA ayavpoBaHuWe. TpaHCKpUNuUWUA He BXOAWT B
KOMIMMEKT pa3faTOYHbIX MaTepuanoB A1 YYaCTHUKOB M He MOXKET ObITb BblfaHa y4YaCTHMKam BO Bpems
npoBefeHns KOHKypca.

Bo Bpemsa ayaupoBaHWA YYaCTHUKM He MOryT 3afaBaTb BOMPOCHI Y/IEHAM >KIOPU WU BbIXOAUTL W3
ayanTopuK, TakK Kak LUYM MOXeT HapyLUMTbL NpoLeaypy NpoBefeHna KOHKypca.

Bpems npoBefieHNs KOHKypca OrpaHNYeHO BPeMEHEM 3BYYaHUs 3anuncu.

Yy4acTH/KaM pasfaloTcs TeKCTbl 3afaHuid U Bymara Ans YepHOBMKOB. B TekcTe 3afiaHuii yKasaHo
BPeMS BbINO/IHEHWS 3a[jaHWin, KOMMYECTBO CMOB U [jaHbl BCE MHCTPYKLMMW MO BbIMOSHEHWIO 3a3JaHWil Ha
aHrIMMCKOM  A3blKe. YUYaCTHUKM MOJTyHatoT YMCTYHO Bymary A/ Y4epHOBMKOB, YePHOBUK CLAETCA BMECTe C
nnctom oTeeToB. OHAKO NPOBEPKE NOoA/1eXaT TO/bKO IMCTbl OTBETOB. YepHOBUKN He MPOBEPAIOTCH.

UneH Xopy B ayAMTOpUX AO/DKEH 3aMKCMPOBaTb BPEMSA Havaia U OKOHYaHWUA OIMMnuazbl Ha LOCKe.

3a 15 1 32 5 MWHYT [0 OKOHYaHWS pPaboTbl YNeH XIOpPU B ayaUTOPUM [OMKEH HANOMHUTbL 06
OCTaBLLEMCS BPEMEHU W NMpeaynpeanTb 0 HEO6X0AMMOCTU TLATEeNbHON NPOBEPKM PaboThbl.

Mocne OKOHYaHUA BPEMEHW BbINOHEHWS 3aaHWiA, NINCTbl OTBETOB COOMPAtOTCS.

McbMeHHble paboTbl YHaCTHUKOB OLIEHMBAKOTCA ABYMS 3KCMepTamy B COOTBETCTBMM C MpunaraeMbiMu
Kputepusammn (cM. Cxemy OLEHMBAHMA BbIMOMHEHUS 3afaHuns pasgena «Mucbmo» B punodkeHum).
Pe3ynbTaTbl 3aHOCATCA B MPOTOKON KOHKypca MUCbMeHHOW peyn (cMm. TpoTOKON OUeHKW pasgena
«lMuncemo» B Mpuno>keHnn).

B cnoxHbIX cnyyasx (NpU pacxoxXxneHUM OLeHOK 3KCnepToB 60siee, YeM Ha fBa 6anna) NUcbMeHHas
paboTa nepenpoBepseTca TPETbUM YJIEHOM XXIOPW.

Mocne HanmucaHus, paboTbl YYaCTHUKOB ONAMMMNMAAbI COBMpAtOTCH, LIUGPYOTCS UM NPOBEPSAOTCA
KomuccHeld, Nof PYKOBOACTBOM OMbITHOTO PYKOBOAMTENS, LAOWEro yKasaHus W WHCTPYKUMW rpynne
MpoBepsAOLLMX NpenogaBaTeneil. Kputepun oueHuBaHUA B BuAe Tabivubl BbIAAKOTCA Ha PYKU KaXAOMY
MPOBEPAIOLLEMY.

TexHnyeckue cpeacTaa

[na npoBegeHus ayaupoBaHus TpebytoTcs MarHUTO(OoHb! M CD nneliepbl B K&XA0W ayauTopun.
SANMNMCb COENAHA B ®OPMATE MP3, UTO HEOBXOAMMO YUYECTb PU BbIBOPE
COOTBETCTBYHOLWLEINO MATHNTO®OHA.

[ns npoBefieHNs  OCTaslbHbIX Pa3fefioB KOHKypca He TpebyeTcs cneunasibHbIX TeXHUYECKMX
cpeacTs. MomMMMO HEO6XOAMMOrO KOMMYecTBa KOMMEKTOB 3aflaHWi, SIMCTOB OTBETOB U YEPHOBUKOB, B
ayauToOpUM LO/MKHbI ObITh 3amnacHble Py4Yku, 3anacHble KOMMEKTbl 3afaHuid, bymara Ans YepHOBUKOB U
3anacHble NMNCTbl OTBETOB.
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[laTa npoBeaeHns onMMnuagbl

O6bLee BpeMs BbIMOSHEHNA paboThbl — 2 Yaca 15 MUHYT

SECTION 1
18 6annos

NMPNTOXXEHUE 1

LISTENING

Task 1
7 6annos

Questions 1-7

For Questions 1 -7, decide which answer A, B, C or D fits best.

You will hear the recording twice.

hat is the teacher mainly discussing?

Al Insects that feed on plants.

B Animals that feed on insects.
Pants that use insects to survive.
D) Insects that are attractive to plants.

hy is the teacher discussing this topic?

@ He is lecturing about something that the students will see the next day.

E He is preparing the students for an exam that is tomorrow.
He is explaining something that the students have just seen.

E He is discussing something that the students will be required to read.
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What does an insectivorous plant get from an insect?

Al All of its nutrients.
B/ Chlorophyll
Nitrogen

@ Digestive liquid

According to the teacher, how widespread are insectivorous plants?

/A There are hundreds of varieties in the world.

B They exist in 500 countries of the world.

They exist only in North America.

D There are five different types throughout the world.

What is stated in the lecture about the Venus flytrap?

ﬂ It is the largest insectivorous plant.
B It is found only in South America.
It has movable parts.

D) It has only one trap leaf.

@ What is stated in the lecture about the sensory bristles? (Choose TWO ANSWERS)

Al They are divided into two parts.

B There are three of them.

They are on the outside of the leaf.
D| They cause the trap leaf to close.

Questions 1 2 3 4 5 6 7

Letters




Task 2

11 6annos
For Questions 1 —-11, decide which answer A, B, C or D fits best.
You will hear the recording twice.

L . ]S i SRR iy 1
oL 'fﬁ HIOOSHE

Old King Cole

> A
Little Jack Horner

W s

hat is the main idea of the talk?

ﬂ All of the Mother Goose stories were probably written by Charlemagne’s mother.

B Though there may have been a real Mother Goose, the Mother Goose stories were not all written by her.
Two different versions of the Mother Goose stories have been published by different authors.

D) Three characters in Mother Goose stories are based on historical figures.

hy does the teacher say that she is sure the students all think they know about Mother Goose, but
she’ll find it out.

ﬂ To show that there is more to the topic than the students might think.

B To indicate that she thinks the students do not know anything about the topic.
To clarify that they have already discussed this topic before.

D To encourage the students to say what they know about the topic.

How does the teacher seem to feel about the Mother Goose stories?

ﬂ The only important stories in children’s literature come from Mother Goose.
E It is important to create a complete overview of children’s literature.

The Mother Goose stories are an important part of children’s literature.

D| The Mother Goose stories are too complex for children to understand.

When was the earliest Mother Goose book compiled by Charles Perrault?

Al In 200 A.D.

B! In the early 1500s.
In 1697.

D) In 1760.

The Mother Goose stories did not include
Al “Sleeping Beauty”.

B Hans Christian Andersen’s collection of fairy tales.
“Old King Cole”.



@ about fifteen Shakespearean songs.

6/ /7] What TWO statements are true about the authorship of the Mother Goose books? (Choose TWO
ANSWERS)

ﬂ The Mother Goose rhymes probably had different authors.

B Perrault and Newbery contributed significantly to the writing of Mother Goose stories.
Charlemagne’s mother wrote most of the Mother Goose rhymes.

D Different Mother Goose stories were probably written at different times.

8 Who is the real Mother Goose believed to be?

Al Charlemagne’s pet.

B Bertha’s goose.

The mother of Charlemagne.
E A goose with multiple owners.

[9/20] What does the teacher say is known about King Cole? (Choose TWO ANSWERS)

Al He was a famous musician.

B/ He was a king of Britain.

He lived more than 1,800 years ago.
E He was only a fictional character.

[11 \What does the teacher say about Jack Horner?

ﬂ He became King of England.

B He ate 12 pies.

He became owner of an estate illegally.
D) He stole some plums.

Questions 1 2 3 4 o 6 / 8 9 10 | (11
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TRANSFER ALL YOUR ANSWERS TO YOUR ANSWER SHEET]




SECTION 2
26 6annoBs

READING

You should spend about 25 minutes on Questions 1-13 which are based on reading the text “Ozette”
below. Choose the appropriate letters A—D and write them in boxes 1—13 on your answer sheet.

Task 1
13 6annos

Ozette

The availability of archeological
evidence for study is dependent on the natural
conditions in which the archeological remains
are found; certain types of natural conditions
favor preservation of organic substances and
therefore lend themselves to sheltering well-
preserved organic remains, while other types of
natural conditions lead to the degradation or
destruction of organic remains that may have
existed. An important distinction in land
archeology can be made between dryland and
wetland archeological sites. The vast majority of
sites are dry sites, which means that the
moisture content of the material enveloping the
archeological evidence is low and preservation
of the organic material as a result is quite poor.
Wetland archeological sites are sites such as
those found in lakes, swamps, marshes, and
bogs; in these wetland archeological sites,
organic materials are effectively sealed in an
environment that is airless and wet and that
therefore tends to foster preservation.

It has been estimated that on a wet
archeological site often 90 percent of the finds
are organic. This is the case, however, only
when the site has been more or less permanently
waterlogged up to the time of excavation; if a
wet site has dried out periodically, perhaps
seasonally, decomposition of the organic
material has most likely taken place. Organic
material such as textiles, leather, basketry,
wood, and plant remains of all kinds tends to be
well preserved in permanently waterlogged
sites, while little or none of this type of organic
material would survive in dryland archeological
sites or in wetland sites that have from time to
time dried out. For this reason, archeologists
have been focusing more on wet sites, which are
proving to be rich sources of evidence about the
lifestyles and activities of past human cultures.

A serious problem with archeological
finds in waterlogged environments is that the
organic finds, and wood in particular,
deteriorate rapidly when they are removed from
the wet environment and begin to dry out. It is
therefore important that organic finds be kept
wet until they can be treated in a laboratory; the
need for extraordinary measures to preserve
organic finds taken from wetland environments
in part explains the huge cost of wetland
archeology, which has been estimated to be
quadruple the cost of dryland archeology.

One wetland site that has produced
extraordinary finds is the Ozette site, on the
northwest coast of the United States in the state
of Washington. Around 1750, a huge mudslide
that resulted from the seasonal swelling of an
underground  stream  completely  covered
sections of a whaling village located there.
Memories of the village were kept alive by
descendants of the surviving inhabitants of the
village in their traditional stories, and an
archeological excavation of the site was
organized. The mud was removed from the site,
and a number of well-preserved cedarwood
houses were uncovered, complete with carved
panels painted with animal designs, hearths, and
benches for sleeping. More than 50,000 artifacts
in excellent condition were found, including
woven material such as baskets and mats,
equipment for weaving such as looms and
spindles, hunting equipment such as bows and
harpoons, fishing equipment such as hooks and
rakes, equipment used for water transportation
such as canoe paddles and bailers, containers
such as wooden boxes and bowls, and
decorative items such as a huge block of cedar
carved in the shape of the dorsal fin of a whale
and miniature carved figurines.




1. The word “which” in paragraph 1 refers to?
A. availability
B. evidence
C. study
D. conditions

2. The word “remains” in paragraph 1 is closest in meaning to
A. remnants
B. studies
C. stays
D. survivors

3. The word “themselves” in paragraph 1 refers to
A. archeological remains
B. certain types
C. organic substances
D. organic remains

4. The word “poor” in paragraph 1 could be best replaced by
A. needy
B. penniless
C. inadequate
D. impoverished

5. The word “those” in paragraph 1 refers to
A. sites
B. lakes
C. swamps
D. marshes

6. The word “bogs” in paragraph 1 is closest in meaning to
A. bodies of water
B. deserts
C. muddy areas
D. caves

7. The phrase “this type” in paragraph 2 refers to
A. textiles, leather, basketry, wood, and plant remains
B. all kinds
C. waterlogged sites
D. dryland archeological sites



8. The word “rich” in paragraph 2 could best be replaced by
A. wealthy
B. substantial
C. prosperous
D. probable

9. The word “they” in paragraph 3 refers to
A. human cultures
B. archeological finds
C. waterlogged environments
D. organic finds

10. The word “which” in paragraph 3 refers to
A. organic finds
B. wetland environments
C. huge cost
D. wetland archeology

11. The word “quadruple” in paragraph 3 is closest in meaning to
A. one-quarter
B. four feet
C. four-sided
D. four times

12. The phrase “kept alive” in paragraph 4 is closest in meaning to
A. animated
B. maintained
C. endured
D. lodged

13. The word “harpoons” in paragraph 4 is closest in meaning to
A. spears
B. fishing rods
C. dishes
D. ornaments

Questions

(=]
No]
[@o]
[&]
[OT]
[D]
N1
[oo]

I
&)

Letters
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Task 2
13 6annoB

Read the passage Chocolate. For Questions 1 —13, decide which answer (A, B, C or D) fits best. Write
the appropriate letters A-D in boxes 1-13 on your answer sheet. You should spend about 25 minutes.

The chocolate of today has undergone
numerous changes from its beginnings as an
ingredient in a spicy and bitter drink. Numerous
cultures have made contributions to create the
product that we know today.

=» Cocoa trees are indigenous to South
America’s river valleys. By the seventh century,
the Mayans had brought the trees north into
Mexico, and numerous other cultures, including
the Aztecs and the Toltecs, seem to have been
involved in the production of cocoa trees. In
fact, the words "chocolate” and "cocoa" both
came from the Aztec language. When Spanish
explorers arrived in Central America in the
fifteenth century, they noted that cocoa beans
were valued as a currency for trading and were
also used to prepare a special drink, cacahuatl,
which was made from roasted cocoa beans with
red pepper, vanilla, and water. The explorers at
first were not very impressed with the
cacahuatl because it was so bitter.

—  The Spanish explorers eventually
developed a drink that was more appealing to
their tastes. They created a paste by heating a
mixture of ground sugar, cinnamon, cloves,
anise, almonds, hazelnuts, vanilla, dried cocoa
beans, and orange-flavored water; they then
smoothed the paste onto flat plantain leaves and
let it harden into slabs. Using pieces of the
hardened paste, they prepared a drink, which
they called chocolatl, by dissolving pieces of
the hardened paste into hot water or broth.

[5 The explorers returned to Spain with
their ‘discovery, and chocolate soon became an
exotic treat. From Spain, the use of chocolate
spread to England, where a chocolate drink was
served in chocolate houses, which were
fashionable versions of the coffeehouses that
had sprung up in London in the 1600s. By the
mid-seventeenth century, chocolate was being
dissolved in milk rather than water, the
precursor of milk chocolate.

e— In the nineteenth century, a number
of inventions led to refinements in chocolate. In

Chocolate

1828, Dutch chocolate maker Conrad van
Houten invented a press that would squeeze
much of the cocoa butter out of cocoa beans.
With van Houten's press, it was possible to
separate cocoa beans into cocoa powder and
cocoa butter, which enabled the production of
more refined products. It was possible to create
a much smoother and tastier drink by blending
cocoa powder without the cocoa butter into hot
liquids, and the cocoa butter blended more
easily with sugar to create a smoother paste for
the production of chocolate candies. Then, in the
1870s, Swiss candy makers improved chocolate
production by adding the dried milk recently
created by the Nestle Company to chocolate to
make solid milk chocolate.

> By the end of the nineteenth
century, chocolate was quite a popular treat, yet
it was rather expensive and was not widely
enjoyed because of its prohibitive price.
American candy maker Milton Hershey set out
to make chocolates more affordable and
available. Hershey was operating the successful
Lancaster Caramel Company, a company that he
had founded in 1886. He was using fresh milk in
the production of his caramels, and he soon
began experimenting with a combination of
fresh milk and chocolate. He created the
Hershey Chocolate Company in 1894 to make
chocolate coatings for his caramels. He also
decided to use mass production techniques to
create large quantities of individually wrapped
and affordable chocolates for the public. The
company began selling the "Hershey Bar" in
1900 for only a nickel apiece, and in that year
Hershey also decided to sell his caramel factory
to concentrate entirely on chocolates. He began
building a new factory in Derry Church,
Pennsylvania; the company began operating
there in 1905, and by 1906 the community had
been renamed Hershey. Hershey's product, a
single serving of reasonably priced chocolate,
was to become a huge success.

1. Itisindicated in paragraph 2 that cocoa trees are native to
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A. South America
B. Mexico
C. Spain
D. Central America
Paragraph 2 is marked with an arrow (=)

2. It is mentioned in paragraph 2 that all of the following were involved in the cultivation of cocoa
trees by the seventh century EXEPT

A. the Mayans

B. the Aztecs

C. the Toltecs

D. the Spanish
Paragraph 2 is marked with an arrow (=)

3. Itis NOT stated in paragraph 2 that cacahuatl was
A. used as a currency
B. a special drink
C. rather spicy
D. rather bitter
Paragraph 2 is marked with an arrow (=)

4. What is NOT listed in paragraph 3 as an ingredient in the paste developed by the Spanish?
A. A sweetener
B. Spices
C. Nuts
D. Orange peel
Paragraph 3 is marked with an arrow ()

5. Itis indicated in paragraph 3 that chocolatl
A. contained plantain leaves
B. was a slab of hardened paste
C. was cut into pieces
D. was a hot beverage
Paragraph 3 is marked with an arrow ()

6. It is stated in paragraph 4 that
A. chocolate appeared in England before it appeared in Spain
B. chocolate candies were quite popular in London in the 1600s
C. coffeehouses were popular in London before chocolate houses were
D. by the sixteenth century it was popular to dissolve chocolate in milk
Paragraph 4 is marked with an arrow ( )

7. According to paragraph 5, it is NOT true that van Houten’s invention was used to
A. press cocoa beans
B. mix cocoa butter and cocoa beans
C. separate cocoa powder from cocoa beans
D. remove cocoa butter from cocoa beans
Paragraph 5 is marked with an arrow ( e—»)

8. Which of the following is true, according to paragraph 5?

12



A. It was easier to blend cocoa powder with sugar than it was to blend cocoa butter with
sugar.

B. Better candies could be prepared using cocoa powder rather than cocoa butter.

C. Adding cocoa butter to drinks made the drinks smoother and tastier.

D. Better drinks could be prepared using cocoa powder rather than cocoa butter.
Paragraph 5 is marked with an arrow ( *)

9. What 1870s innovation by Swiss candy makers is discussed in paragraph 5?
A. The creation of solid chocolate
B. The addition of dried milk to chocolate
C. The use of paste in the production of chocolate
D. The addition of whole milk to chocolate
Paragraph 5 is marked with an arrow ( )

10. According to paragraph 6, what factor limited the widespread enjoyment of chocolate in the
period before the end of the nineteenth century?

A. Its bitter taste

B. Its use of dried milk

C. Its high price

D. Its use of cocoa butter
Paragraph 6 is marked with an arrow( » )

11. According to paragraph 6, Hershey’s caramel company
A. was not located in Hershey
B. created caramels using dried milk
C. produced caramel-covered chocolates
D. eventually went bankrupt
Paragraph 6 is marked with an arrow( » )

12. It is NOT mentioned in paragraph 6 that Hershey wanted to
A. mass-produce chocolate
B. sell chocolate in individual servings
C. create an exclusive brand of chocolate
D. make his chocolate available at a low price
Paragraph 6 is marked with an arrow( » )

13. Which of the following is true, according to paragraph 6?
A. Hershey built his new chocolate factory in Lancaster.
B. The original “Hershey Bar” was first produced in Hershey, Pennsylvania.
C. The name of the town where the new factory was located changed its name.
D. The new factory in Hershey produced caramels as well as chocolates.
Paragraph 6 is marked with an arrow( » )

Questions | |1 2 3 4 o 6 / 8 9 | 10 | 11 | 12 | 13

Letters

TRANSFER ALL YOUR ANSWERS TO YOUR ANSWER SHEET]
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SECTION 3 - 20 6annoB

USE OF ENGLISH

Task 1 - 10 6annoB

For questions 1 — 10, write down the name of the object to complete the gaps.

2l e T —— —
? 1_—1'7 [ — I
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0 & | C— —
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0

Task 2

10 6annos

For Questions 1 — 10, match the reasons (1-10) with the consequences (A-K). Complete the
sentence by choosing an appropriate reason and linking it to the first half-sentence with an
appropriate connective.

Example: @ | stayed at home because it was raining|

1| She had to pay by cheque ... A ... because friction produces heat.

3_ Leaves are green B ... because the alarm clock wasn’t working.
= . _ C ... because she forgot her purse.

3|_ An object falls when you drop it ... D ... because she forgot.

4|_A match ignites when you strike it ... E ... because she had an argument with her boss.
5_ She decided not to buy the coat ... F ... because of bacteria.

6| People get diseases ... G ... because of gravity.

_ﬂ_ sh rslent H ... because they contain chlorophyll.

L € f)ve Slept..... I ... because the film was so sad.

8| She didn’t post the letters ... J ... because she couldn’t afford it.

9| She decided to resign ...

LﬁLShe cried all the way through ...

Questions 1 2 3 4 5 6 7/ 8 9 10

Letters

TRANSFER ALL YOUR ANSWERS TO YOUR ANSWER SHEET]
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SECTION 4

10 6annos

SOCIO-CULTURAL COMPETENCE

For Questions 1-10, match the names of authors (1-10) with the titles of literary works that

belong to them (A-K). There is one extra title, which you do not need to use:

| Jane Austen

__Elizabeth Gaskell
__Helen Fielding
|_Jonathan Swift

| Charlotte Bronté
__Lewis Carroll

_J. Fenimore Cooper

| Charles Dickens

__Sir Arthur Conan Doyle
0_Daniel Defoe

P[OI[O[N[D[OTB][W[N[F]

A Gulliver’s Travels

B Bridget Jones’s Diary

C Jane Eyre

D Pride and Prejudice

E Wuthering Heights

F North and South

G The Last of the Mohicans
H Robinson Crusoe

I Oliver Twist

J The Adventures of Sherlock Holmes
K Alice in Wonderland

Questions 1 2 3 4

10

Letters

TRANSFER ALL YOUR ANSWERS TO YOUR ANSWER SHEET]
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SECTIONS
12 6annoB

WRITING

Participant’s ID number

Personal Letter
You have 20 minutes to do this task.
You’ve received a letter from your English pen-friend Jane who writes:

Dear N...

1 am writing a report on prisons. Do you think that prisons should be abolished? It seems that all
arguments against prisons are arguments against conditions in prisons. Do you believe that a good
way to punish is to limit freedom? Let me know what you think.

Write back soon.

Best wishes,

Jane

Write a letter to Jane. Answer her questions. Ask 3 questions about her mobile phone.
Write 100-140 words.
Remember the rules of letter-writing.

YOU CAN USE THE OPPOSITE SIDE

17
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Task 1
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SECTION 3

USE OF ENGLISH

Task 1
i
2
3
4
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7
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Letters
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MNPUNOXEHWNE 2

ANSWER KEYS

SECTION 1
18 6annos

LISTENING

Task 1
7 6aninoB

Questions 1 2 3 4

Letters C A C A

O[O

B/D

B/D

Task 2
11 6annoB

Questions

=
N
w

a1
[@))

10 | 11

(@JES

Letters B A C

A/D

w

A/D

B/C

B/C C

SECTION 2
26 6annos

READING

Task 1
13 6annoBs

Questions 1 2

W
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Letters D A B

Task 2
13 6annoBs

Questions 1 2 3

[@1]
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\l
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o=

Letters A | D A
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SECTION 3 - 20 6annoB

USE OF ENGLISH

Task 1 - 10 6annos

1 Thermometer

2 Bottle (-)opener

3 Button

4 Magnifier / Magnifying glass__

5 Nail

6 Screwdriver

U Pram / Perambulator / Pushcart / Pushchair__

8 Clip/ Clinch

9 Switch

10 Envelope

Task 2 — 10 6annos

Questions 1 2 3 4 3} 6 / 8 0 10
Letters C H G A J F B D E I

SECTION 4 - 10 6annos

SOCIO-CULTURAL COMPETENCE

1 D
2 _F
3 B
4 A
5 ¢
6 K
7_G
8|

9

[E=Y
P
I
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LISTENING

RECORDING SCRIPT

3apaHna Ne 1 1 Ne 2 3anmncaHbl Ha gncke 1 pas (2 3ByKOBbIe JOPOXKN).
May3a Mexxay nosyyeHvieM yyawpmmmncs 61aHKa 3afaHusa U Hayasiom npocyLmBaHns 3agaHnsaNel
A0/DKHa cocTaBuTh 30 CEKYHA (J0MNyCKaeTcs TexHMYecKas naysa 6osiee 30 CeKyHA).

Yyawimeca BbINonHAT 3afaHue Nel, 3anucaHHoOe Ha AWCK OLHOKPAaTHO. 3anmcb Ha [AMCcKe
Heo6X04MMO NPeLbABUTL 2 pasa Nogpss (LonyckaeTcs TexHu4veckas naysa B 10-15 cekyHA mexay

NepBbIM W BTOPbIM NPOC/yLLUMBAHWEM 3afaHWS).

Task 1

(Bpemsi 3ByYaHns: 3 MUHYTbI; ABYKPATHOe NPOCNYLLMBaHME: 6 MUHYT)

(NARRATOR) Listen to a lecture in a
botany class.

(TEACHER) Today, we’re going to be
talking about insectivorous plants. As you
know, we have a field trip tomorrow. We’ll be
going to the botanical gardens, and we’re
going to be seeing some insectivorous plants
there.

Do you understand what insectivorous
plants are? Insectivorous plants are plants that
trap and assimilate insects in order to sustain
life. You may understand the meaning of
“insectivore” from related words such as
“carnivore” or “herbivore”: a carnivore eats
meet, and an herbivore eats plants, while an
insectivore devours insects. But - unlike
carnivores and herbivores, which are animals —
the insectivores that we’re going to discuss
today are plants.

All  insectivorous plants contain
chlorophyll and have roots, so they don’t get
all of their nutrients from the insects they take
in. Insectivorous plants tend to live in soil that
lacks enough nitrogen for them to exist, so
they consume their insect victims in order to
get the nitrogen they need. There’re many
types of insectivorous plants in the world —
there’re perhaps 500 known species of

insectivorous plants worldwide. Of these many
types of insectivorous plants, we’re going to
look at one of the better known ones in depth.

The insectivorous plant that we’re
going to discuss in detail is the Venus flytrap,
which is native to North America. Now look at
the drawing of the Venus flytrap on the screen.
The Venus flytrap catches insects by suddenly
snapping the ends of one of its trap leaves
around an insect. You can see in the diagram
that a Venus flytrap has a number of trap
leaves and that each trap leaf is divided into
two parts. Inside the two parts of the trap leaf
are three sensory bristles, sensory bristles
which resemble tiny hairs. When an insect
touches the bristles inside a trap leaf, the two
surfaces of the leaf shut instantaneously, and
the insect’s trapped inside the parts of the leaf.
The Venus flytrap then discharges a digestive
liquid into the leaf in order to assimilate the
insect and obtain the nitrogen the plant needs
in order to survive.

That’s all for today on the Venus
flytrap. | hope that from our discussion of the
Venus flytrap you’ve developed a clearer
understanding of how this and other
insectivorous plants function. You’ll need it
for the trip tomorrow.

Maysa mexay npocnywmBaHusamu 3agaHmii Nel n 2 gomkHa coctaBuTb 30 CeKyH[, HE0OX0ANMbIX
[151 03HAKOM/IEHMA YHaLmMXcsi ¢ POPMYIMPOBKOIA BTOPOI0 3aaHus.
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Yuyalumecs BbINonHAT 3agaHne No2. 3anucb Ha AUCKe He0OX0AMMO NMPeabsBuTb 2 pasa Noapss,
(monyckaetca TexHMYeckas naysa B 10-15 cekyHz MeXXay nepBbIM 1 BTOPbIM NPOC/TYLLNBaHNEM

3afjaHus).

Task 2

(Bpemsi 3ByYaHUsi: 3 MUHYTbI 52 CeKyHAbl; ABYKPaTHOe NMpPoCc/yLuMBaHne: 7 MUHYT

44 ceKyH[bl)

(TEACHER) Good morning, class. Our
topic for today is the Mother Goose stories.
Now... I’m sure you all think you know about
Mother Goose... well, we’ll find out today...

No overview of children’s literature
would be complete without Mother Goose
because Mother Goose is such a, such a
complex and diverse collection of children’s
literature. An interesting point about the
Mother Goose stories is that their origin is
unclear. Most scholars feel, while the name
Mother Goose may refer to a person, the
person known as Mother Goose in all
probability did not write the stories, rhymes,
and songs found in the Mother Goose books.
Today we’ll look at the two earliest
publications of Mother Goose books, one of
which gives a suggestion as to who the real
Mother Goose may have been. Then we’ll look
a two of the rhymes that suggest multiple
authorship.

The earliest Mother Goose book was
compiled in 1697 by a Frenchman named
Perrault. This book was a collection of well-
known children’s stories including “Sleeping
Beauty” and “Cinderella”. These stories were
believed to have been told to the French
military hero Charlemagne by his mother, who
was known as Goose-Footed Bertha; the name
Mother Goose is believed to have come from
this nickname of Charlemagne’s mother. A
second book of Mother Goose stories was
published in 1760 by John Newbery. This
Mother Goose collection included a selection
of well-known children’s rhymes and also
about fifteen Shakespearean songs. Neither
Perrault nor Newbery claimed to have written

any of the Mother Goose stories, rhymes, or
songs. In fact, no one person could have done
so. Some of the rhymes, such as “Old King
Cole” and “Little Jack Horner”, are based on
historical figures. It seems quite clear that
these two rhymes were written in different eras
— because the real King Cole and the real Jack
Horner lived centuries apart. Lets look a little
more closely at these two rhymes.

The first of these two rhymes, “Old
King Cole”, refers to King Cole of Britain.
King Cole reigned around 200 A.D. The
rhyme tells us he loved music, but very little
else is known about him today. The second
rhyme is about Jack Horner. Jack Horner was
the steward to the Bishop of Glastonbury,
England in the early 1500s. He was sent to
deliver twelve title deeds hidden in a pie to
King Henry VIII. On the way, Jack Horner
opened the pie and stole a deed. The plum in
the poem refers to the stolen title deed. The
Horner family still owns the estate at Mells
Park, England, the estate for which the title
deed was reportedly stolen.

From the stories of these two rhymes,
the conclusion that the Mother Goose stories
had multiple authors seems inescapable.
Although very little is known about the origin
of most of the rhymes and stories, the Mother
Goose collections have formed the core of
children’s literature in the United States and
England. Next week we’ll discuss Hans
Christian Andersen’s collection of fairy tales.
Before class, please read the selections by
Hans Christian Andersen in your anthology of
children’s literature.

23



MPUNOXEHWME 3

MPOTOKOJ1 OUEHKW PA3AENA «[MTMCbMO»

akecnepT Ne
ID K1 K2 CYMMA NTOIMOBAHA
y4yacTHUMKa BAJTIOB MO CYMMA BAJ1/10B

LUKANE (MAKCVIMYM 12)
(MAKCUMYM 6)
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MNMPNNOXEHWE 4
Cxema OLeHMBaHMA BbINOMHEHWS 3aiaHnsa pasaena «MmcbMo»
MAKCVMYM 12 BAJ1/10B
(MAKCVIMYM 6 BAJIJTOB MO LWKAJE. NMOJTYYEHHbBIE BA1/1bl YBANBAKOTCH)

Bannbl | PelueHne KOMMYHUKaTUBHOM OpraHmzauns TekcTa
3aga4n (cogep xkaHue)
K1 (C1) K2 (C1)

3 3alaHue BbINOHEHO NOHOCTLHIO: coflepXKaHue | BbicKa3sbiBaHue NOTNYHO;
OTpaXaeT BCE acnekTsbl, yKa3aHHble B | CPeACTBAa /IOTMYECKON  CBSI3M
3afjaHun;  CTWUMEBOE  O(OPM/IEHME  PeyYMr | UCMO/b30BaHbI NPaBULHO;
BbIGPaHO NPaBM/IbHO C YYETOM LieNn TEeKCT pasfeneH Ha ab3albl;
BbICKa3blBaHWA W agpecata; Co6MOAEHbI | OopmIeHMe TekcTa
NPUHATbLIE B A3bIKE HOPMbI BEXX/TMBOCTMU. COOTBETCTBYET HOpMaMm,

NPUHATBIM B CTpaHe
M3y4aemoro s3blKa.

2 3agaHne BbINOMHEHO: HEKOTOPble acnekTbl, | BbickasbiBaHe B OCHOBHOM
yKasaHHble B  3afaHWMW, PacKpbiTbl  HE | IOFMYHO; MMEKTCA OTAeNbHbIE
MOMIHOCTBIO; UMEKTCS OTAE/NbHbIE HAPYLUEHWS | HEAOCTaTKU npu
CTWNEBOTO0 O(OPM/IEHNS PeyYn; B OCHOBHOM | MCMO/b30BaHUM CpeacTs
COOMOAEHbI  MPUHATbIE B A3bIKE HOPMbI | TOTUYECKOA CBSA3W; MMEKTCA
BEX/IMBOCTW. OTAeNbHble HefoCTaTKM  Npu

[eNeHnn TekcTa Ha ab3aupl;
MMerTCA OTAE/bHbIE
HapyLUeHMS

B OOPM/IEHNN TECTA.

1 3agaHve  BbIMNOMHEHO  HE  MOJHOCTBIO: | BbicKasbiBaHMe He BCerga
COAEPXKaHMe OTpaXKaeT He BCe aCreKTbl, NOTMYHO; UMETCS
yKa3aHHble B 3alaHUN; HapYLLEHWSI CTUNEBOrO | MHOFOUMCNEHHbIE OLLUNOKN B
0thOpM/IEHNS peyM BCTPEYatoTCs AOCTaTOYMHO | MCMONb30BaHWNM CPeacTB
4yacTo; B OCHOBHOM He COO6MOAAKOTCA | NOrMYECKON CBS3M, UX BbIGOP
NPUHATbIE B A3bIKE HOPMbI BEXX/TNMBOCTMW. OrpaHuyeH; AeneHune Tecta Ha

ab3aLlbl OTCYTCTBYET; MMEHTCA
MHOTOYMC/IEHHbIE OLLUNOKM B
ohopmeHNn TeKCTA.

0 3afjaHne He BbINOMHEHO: cofdepXaHue He | OTCyTCTBYET NOrMkKa B

OTpaXKaeT Te aCMeKTbl, KOTOPbIE YKa3aHbl B
3afjaHuK, WM He COOTBETCTBYET TpebyemMomy
06beMY.

MOCTPOEHUN  BbICKA3bIBAHUS;
TEKCT He 0hopMIIEH.
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